Question One (30 Points): Answer the following questions:

Given the following account balances at year end:

Cash €1,500,000
Accounts Receivable 4,000,000
Trademarks 2,000,000
Goodwill 4,500,000
Research Costs 2,000,000

Compute the total intangible assets on the statement of financial position for the
company.

Omar Corporation mlm QHMZ'I: equipment had an original

cost of $36,000 and accumulated depreciation of $18,000 at the date of the salg.
Determine the amount of loss or gain that should be recognized as a result of this
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i 0 including
's com has total receipts for the month of May of €28,750 incl
m.ti:ﬁ. ifpaﬂ;yulﬁ tax rate is 10%, what amount of sales revenue did the

company earn in May?

ildi igni long-term
Delmar Com purchased a building on January |1 by signing a long
5430,?(.10 nm:;zc with monthly payments of $4,400. The mortgage carries an
interest rate of 6%. The balance of the morigage payable after the first payment

will be



6. On December 31, 2010, Ahmad Co. purchased equity securities as irading

wr:‘?. Pertinent data are as follows:

, Cont

A si2o00 ol
EE 468,000 518,000
C 688,000 428,000

The amount nrmmmmmumuhmwnwu:

Khair Ashour Acc 2

7. Nizar Company has the following information available:

Net Income $25,000

Cash Provided by Operations 31,000

Capital Expenditures 10,000

Dividends Paid 3,000
What is free cash flow

Compan h.dnﬂuudiluluduiuhqufﬂ.lmuﬂ@uof
% ﬁm«h@.mmamwuuwu
ﬁerﬂwilm-dﬂumdaf&ywitwﬂm.mwh

sccounts receivable tumover ratio?



below:
[ 2om | 20a2
equipment €0,000 | 70,000 |
accumulated depreciation (14,000 {10,000}
Investments 21,000 | 16,000 |
immﬂmﬂh 24,200 | 22,300
cash 15,200 | 17,700
total 106,400 | 116,000 |
share capital-ordinary 50,000 | 45,000 |
| retasned eamings 31800 | 29.900
bonds payable 11,000 | 30,000
| accounts payable 13,600 | 11,100
totsl 106,400 | 116,000 C C 2
. Net income was $20,300.
. Dividends declared and paid were $16,400
. i umilmdumﬂﬂmmﬂﬂm“ﬁ
sold for $2,000.

- hloﬂﬂ”hWﬂMhﬂ:dhﬂeﬁaﬂmwﬁ
mwﬁhﬂhww

wumﬂmuﬁnﬂwwﬁhﬂtmwwﬁuﬂhiﬁﬁ?
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10. Uﬁuﬂ:ﬂmm
1230/10

Accounts receivable €1,050,000

Allowance (90,000)

Cash realizable value €960,000
mmn.mummmmmmummnnm.
mmmn.hmmmﬁmau ible accounts. An analysis
of receivable accounts at year end indicated that uncollectible accounts

outstanding
Mumd-ﬂnsmmmwmmu is
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\\. Black Company provides for bad delys
p 3 the ;
m““““‘"\‘!hﬁmnﬁmhmﬁ ¢ rate of 3% of credit sales.

Allowanee for doutnful accounts, \I\I\L Ctdinisicws 'S 10500

mmoﬁummm' i
Crednsales im0 .o l.ﬁﬁﬁ

mmmrumwum:mwn,mu.mu:

Acc 2

\1. AL Corporation retires s £500.000 face value bonds at 103 on Janwary |,

following, the payment of anmual interest. The carrying value of the bonds al the

redempion dae is $518,250. Determine the amount of loss or gain that should be
recogrized s a result of this ransaction:

i {g{%- Ii_..:._‘-_‘ = ,:! I': g \i:!:l'.l:‘;:: f.—.,_-_\._. |fﬂ:“ \_;-;__,.(h |
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3. \n a tecent ABC Corporstion had net income of $200,000, interest expense
d?ﬁﬂ?:tfmmmﬁn of 9. Whai was ABC Corporation’s

income before e for the year?

+re Aska ia mvailable for BOX Corporation st December 31, 2011:

“'mmmm-.“ par €10 (mathorizcd 15,000 shares)  €100.000

Tm-ur:a-ummuuwhﬂ &00
m-hhmmmm-mw



: P‘"!"ftpurudm‘
receivable $60,000 year,
depreciation wd:fgﬁ by $7,000, for the - During the y eqr
it was W*"Wbyssmum
the year Nﬂmmﬁdhwmmm

A company

Mﬂtqﬁmmu:: msmﬁm_m APl 1, 2011 for €80,000, |t is estimageq
numruu H?M“Muhmhﬂﬂmumﬂm_

Dmunbuil.zﬂl.?.uﬁng:
I.Theﬂrliglulincmeﬂm

s ACC D
Khair Ashour

- mmpmrhdﬂ*mm'md"i“m“:
+ Issued 560,000 of par value ordinary shares for cash.
Repaid a 6 year note payable in the amount of $22,000
ired land by issuing ordinary shares of par value $100,000.
Declared and paid a cash dividend of $2,000.
Sold a long-term investment (cost $63,000) for cash of $9.000.
Acquired an investment in IBM shares for cash of $12,000,

1. What is the net cash provided (used) by investing activities?

bt o o

2. What is the net cash provided (used) by financing sctivities



v

Question Four (6 Points):
On January 1, 2011, XYZ Corporation had the fol aOOONE .
“Share capital- ordinary (520 par value, wmm mudmdmw Isl.zm.m}

Share premium - ordinary i T

T
Retained eamings Soreld e ST [ 5000

Required: Journalize the following transactions
. Jamuwary 1, 2011 Duhd!lﬂMGmhdivMum

2. July 1,2011 Announced a S+for-1 share split ACC 2
Khair Ashour

31, 2011 Declared a 10% share dividend 10

4 o.mw.nnm-:nhwﬁpwm

Question Five (6 Polatak

wmmm
investments:
1. Feb. 1,

wdhanccmwﬁﬁﬂihm

011 nmudmmammcmuﬁ;hmmnmh

2. Jume1,2011 WMMHHJFMH Horton shares.

3. Oet. 1,2001 Sold 1,200 Horton shares for £24,000.




